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Directions (1-5): 712 fe€ ¢ yd® uy &, Tb Uy 3R 9 Sy wHi® |, 1 3R 11 fw
e &1 3y ug AUy 31 8 f6 vy A feu U sriwe Uy &1 3R 31 & forw
qgie € a1 981 | 9 SU1 31 g BIfor 3R Ul & Ik Sifcr |

(a) fS HYF | 3R 11 § U MY 3fipe THATHR Uy &1 IR o1 & forw il 8, Safes sy

Il H faT 77T sfipe UY BT IR &1 & oY 3Maxass g1 gl

(b) Tfe HYUT 1 3R 11 H AT 7T 3fipe e Uy &1 IR e & fore vl &, Safes sy

I 7 fAT TN 3firs Uy &1 IR &4 & forw siawass T8t B

(c) afe ®YF 11 3R 11 H T TN 3fiwe AR Uy &1 S| 7 & o yaig €, safe

Y | 7 T Y 3iipe UY BT IR 34 & U o T8l 3

(d) afe gt w1 1, 1 3R 11 & fou U 3w s e Uy &1 IR o1 & o smawas g

%tr%%ﬂlﬁaﬁm‘f 1, 11 3R 11§ feu Tu s fieer it Uy &1 IR &1 & forw yaia
|

Q1. T URAR § ATd "X AT A, B, C, M, K, T 3R L &, Fa dIvA fF K, T &1

yeHd 3ihd gl

LM, KBTHTS B 3R L A faarfigd g, LS A B ATRIA, THI T8 81

IIl. B, A BT HT§ 81 C, K BT 3Hadl I 3
lIl. B, K &1 SPaldl G 8, K Sl L &1 §e3-34-@1 31 C, B B I8 &
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Q2.M, N, P, Q, R 3ii¥ S & & Had Y o191 &7

P, 3TH A Pad al § URT 81 S, R 3R Q ¥ R} B
I.R, Q 3R N &FI J el 8, AP N, P I HRI @ AfbT S 3R M GIHT A BoobT B
.S, MY gl g
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Q3. TH U A B: AAfRI A, B, C, D, E 3R F IR =1 &1 3R 3749 g1 86 B
fFrafafaa 18 &9 ¢ & ¥ A g WM R 61872

%,aﬁ%WwW%w%%mﬁwwwéa%l A 5t off sifom BR W
|

Il.A, B 31% a1 931 §, B Sl C & aI¢ ¥ 1Y R W 9871 5

Il. D, E & §T¢ ¥ G ¥ R 981 51 D fHdl T R R 931 7
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Q4.M & fraa g7 82

ILN,GHTHUE 8l A, NBI g9 8l K, BDI Al 5l
II. G, B & HTS §, B Sl K &1 I g
. M, K 9 faarza 21
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Q5. &Y 7S FeuTwT § 122 Fe frad fore vy gam3»

|. CHIHT . ‘Sun water roof @I ‘am nl or & ¥4 § Fodg fhdl STl g 3R ‘food room
pIate’Eb;T ‘st od Wa’$WﬁWWW%I

[l. CHINI H, ‘stem plant leave’ DI ‘er az op’ & & 4 hcd& faT ST 8 S8R ‘food
plate water’ @I ‘od stnl' & Y H Pcdx forar STrar 81

[, PCHTHT H, flower air Sun’ @I ‘pa am Iz’ & &J H Fedg fhdl Srdm g 3R “food plant
leave’ &I ‘az od er’ %Wﬁwm\_ﬂ'ﬁ%l
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Direction (6-10): FrafIf&d ga= &1 wFyd® sreaat Fifve siR R e M usif &
IR e
% Wd & Y ¥ faemdf A, B, C, D, E, F, G, H, | 3R J, (3R fdaRul YARIE & o

U Ufgd # IR B 3R I W 1R 96 | 37 Tt 3! udien H 3% U & HUR W
U, QUL 3R 3 UPR ¥ d 1P U §8 §, Qi HTaRa® gl [ TH oH




[ gl1 g, 3ifaH g BR W 98T ¢ 3R Y gud MR Al I i el g% 81 C, G b WY
ﬁ?ﬂﬂiwwéa% D & Fpedn ugill

93181 B DWﬁWﬂ@?ﬁﬂ%‘f%E,F%E@ﬁﬁﬁWﬂﬁﬁ%Hﬁ?ﬂﬂﬁ%

U §% & 3R 8 C P Ficbead USl el &1 3fodl ¥ 1 o aren faemedf, sifom
MU BR | 3T 21 F B 7 A Uga 3R 7 & 531 36 U g5 21 A Yo U B

%ﬁg@aﬁwﬁwwﬁa@ﬁmﬁ S ¥ G R W 981 51 C B 3ifaq Y& g
|

Q6. & A oA ufea & siffT SR W aa13?

(a)CF

(b) D, I

(c)AG

(d)1L]

(e) 39 ¥ BIS e
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Q7. F 3R D & Aed fopa fundf 93 8~

(@) TP
(b) @l

(c)

(d) IR

(e) PIS gl
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Q8. B » =i A Fufafeada s ara 8?

(@ B, C ¥ ard & g =IF W 35T 2
(b) B, E &1 Fidpedd yerh 78l @
(c) B, A% I ¥ R M R 931 3



(d) B, Ufed & fopalt sifam SR R 331 ®
(e) B &1 ¥ IIddl §
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Q. R WPR C A ¥ GWifia 3, St WPR D ,J | Tw&fya 81 99 e &1 s

Fd gu fAufeafaa # 9§ 19 ¢ § 9wt 32

(@b
(b) E

(c) |
(d)F

(e) 378 q HIg el
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Qlo. FHAA I FI¥P FAT®?

(e) ral
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Direction (11-12): PRI TF®R &1 eaqd e sreaa= &9 3R - faw 7w usi

%W?ﬂﬁrm:

A, WWH Y 5 W gd B g W WST gl a5 H IR A= @1 SR IaT 3R™ Hd &,
R I 9 SR A a1¢ 3R gSar & oMk HHRr: 5 1, 31, 25t gadr § 9y w@m dF
IR HHTID Tl 3R GSdT § 3R R 58,37, 21 g §1

Q11 3T 3 sifir Rig & T &, T @1 sifirw Rig et R & ol freft g W 22

(a) TfgH, 2t
(b) 7, 1¥#t



(c) ufg, 19t
(d) gd, 51
(e) STH A DIS gl
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Q12. XM & IRfF fig & Heu ¥, I & sifow fig 5t =maw gt ik ez«
82

(a) TR UfgH, 34t

(b) SR Td, 22t
(c) <ieror afgm, 2+2w
(d) IR UfFH, 2+20
(e) T7H & DI el
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Directions (13-14): fFufafad e @1 ?IIFI'W g aﬁﬁm 3R - ﬁ"l[ 11
wi & IR SifvTT:

UHh Al IR Q=N P 3R T AR FHT ¢ | 5fhH g & alg 98 foig X R
%lwﬁagmsh?m%aﬁmﬁaw%ﬁma%aﬁmﬁmamw%g
ot Taar § aur fig Y R ugadr g1 T8l § 98 91¢ 3R ST § auT 2 fadt Iaan g
Y& 91 I8 914 3R ST 7 quT 3 ff Iaan 7 ik fig z iR ugwran g1

Q13. &fdd & gR1 fore 71T uga #is A faig z & weg <gaw gt adT fa=m gra Siforw|

(a) V23fHe, IR gd
(b) V1 1fat, aféror ufgm
(c) V21 fodl, ITR-ufgw
(d) V26fdm, ITR-qd
OESLEEIFEE
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Q14.afe fig Q, fig v ¥ 5 fft qd A 3. @Y X & wey &, @ #} fa=n yra Hifvmw)

() STR-Jd

(b) Tf&oT-gd

(c) STR-UfgH

(d) aféror

(e) STH A DIS g
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Q15. BYT: HRT gRT 8T &1 H Google GRT U TSH €T dl TR& A J FADR
AT UIST T NYASh g, S IUTNTH ATl BT HRAHT ufsdtes W & fow 360 &l e=w
Ua BT 5. & FH3l I MURIE & d1¢ UdId ol @i &R fear T,

fFafafaa & @ &1 It smufi/smufet IRER §RT IoTT T SRITd FeH & g te
HUTIT ST 78T g1 Pl 32

() T Ol & fF T8 Bl USHHIC TRY WR §U 3Mdd! gAd &I JEYH & oM g,
o Saratell @ g § & sidwaredl 3 dférd &3 & RIIHia &I T B &
i Google AMET &1 IUANT favar 1.

(b) T&T TTe B fidrsfi &I e H a1 ST 9mfe .

(c) HRA B! TR&T 3R FRRAT ®! W Hed fear SHm =,
(d)EﬁW@{R&H@WﬁWWW@WWﬁWﬁ%W
Tt URU® 81 5| TAR 3iex 98X ¥ SaTal g’AA 6

(e) SIRIad .
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Solutions (1-5):
S1. Ans.(b)

Sol. Using statement I and III, we get our final relation.



S2. Ans.(d)

Sol. From statement |, II, IIl we get the following arrangement. M is the heaviest.

M>S>N>P>Q>R

S3. Ans.(c)

Sol. From II and III we get the final sitting arrangement in which F sits 21d to the right of C.
I I I I I I

D C E F A B

S4. Ans.(c)
From statement I, and III, we get our final answer. M has two sons.

Sol.

() === K (-)

B m—— G
(+) (+)

S5. Ans.(e)

Sol. All the three statements are not sufficient to answer the question.

Solutions (6-10):

S6. Ans.(d)
S7.Ans.(d)
S8.Ans.(e)



S9.Ans.(b)
S10.Ans.(e)

Solutions (11-12):

&m
z
e S
T~
W m A
Im 1
' |
Ram's Shyam's final
y final Point Point K
Y 2m 2m *
N N

Shyam's Initial Point 5m Ram's Initial point

Dotted arrow shows
distance travelled by
Shyam

Sharp arrows shows the
distance travelled by Ram

S11.Ans(c)
S12. Ans(b)

Solutions (13-14):
S13. Ans. (d)
Sol. Required distance= v52 + 12 =v/26 km



- - p— Z
e 1
— —.~ 3km
N — T~ """ 3km
2km
5km Y 2km
S14. Ans. (b)
Z
- 3k '
X i 3km
Skm Y Zklﬁ -3Fn —-Q
$15. Ans.(d)

Sol. All the options may be the probable reasons except option (d) because the reason in
that option is contradictory to the statement. We Indians are matured enough to permit
such exploratory things threatening national security. So, this must not be a probable
reason.
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